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 ��)��ก�5�$0�<0
ก������	
����
�� :*<.ก> 
�30
�6�
&'ก(�,��
"#�
H�
%���4%�#%���) ���ก�*
���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 �Iก��&'ก(� 2554 ���
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 ��ก 
40 L�����	
 (���
�ก��
�,2"#�
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��8���� �,2 1, 2554) 
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�30
�6�
&'ก(�,��
"#�
H�
%���4%�#%���) ���ก�*���
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�,2"#�
5�$
ก��&'ก(���)67&'ก(�
��8���� �,2 1 �Iก��&'ก(� 2554 ���
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 N'$�:*<7�L*	ก��ก��=
*
,
�*ก/@>72��%	>����ก2�����
��N�./)7%�G.ก
 (Krejcie, Robert V. and Morgan, Daryle W., 
1970: 607-610) ./<��'��@>7.++.+>����
 (Strattifield Random Sampling) 2�7��*�>�
,
�*,%�
L�����	
 ./)0�<��8�ก���@>7.++�>�	 (Simple Random Sampling) L*	��8�ก����+d/�ก 7�,��
2%
ก��
ก��=
*,
�*ก/@>72��%	>��./)��8�ก���@>7*��
�� 
     1) ก��=
*,
�*ก/@>72��%	>�� ��ก2���������E��3�,%��
��N�./)7%�G.ก
 (Krejcie, Robert 
V. and Morgan, Daryle W., 1970: 607-610) :*<ก/@>72��%	>�� ���
�
 217 

 ./)
��
�C��ก          
ก���5�	++�--�2�:2�	��&G:*<���
�
ก/@>72��%	>��*��
�� 
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 2)  
��
�C,
�*,%�ก/@>72��%	>����ก2�����
��N�./)7%�G.ก
 5�$ก��=
*:�<�>� ��)��ก� 
���
�
 500 

 ,
�*ก/@>72��%	>���5>�ก�+ 217 

 ��)��ก����
�
 550 

 ,
�*ก/@>72��%	>��
�5>�ก�+ 226 

 6<���)��ก� ���
�
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 ก��
��
�C=�,
�*ก/@>72��%	>����ก�>����)��ก�
���
�
 550-500 7���)��ก��"�$7,'�
 50 

 ก/@>72��%	>�� 226-217 �"�$7,'�
 9 

 6<��>����)��ก� 
547-500 7���)��ก��"�$7,'�
 47 

 ก/@>72��%	>���"�$7,'�
 (9x46)/50 �5>�ก�+ 8.46 

 =�#% 8 

 
*��
��
 6<�7���)��ก�5�$0�<0
ก������	 547 

 ,
�*ก/@>72��%	>���5>�ก�+ 217+8=225 

 
 3)  �@>7ก/@>72��%	>��.++.+>����
 (Stratified Random Sampling) ���.
ก��)��ก�%%ก���

ก/@>72�7,
�*,%�L�����	
 N'$�.+>�%%ก:*<���
 3 ก/@>7 
#% ,
�*�/Eก ,
�*ก/�� ,
�*0=->   
 4)  .+>����
�
,
�*,%�ก/@>72��%	>��5�$ก��=
*:�<���
�
 225 

 2�7���
�
��)��ก�
L*	0�<��*�>�
,%���)��ก�.2>/)ก/@>7���
2��.+>� :*<*��
�� 
 
      ก/@>72��%	>��.+>�2�7,
�*,%�L�����	
 = ก/@>7��)��ก�x���
�
ก/@>72��%	>��5���=7* 
                ���
�
��)��ก�5���=7*  
 
 5)  0�<��8�ก���@>7.++�>�	 (Simple Random Sampling) ��8�ก����+�/�ก L*	;3<����	5���/�ก
���
�
��)��ก�5@กL�����	
.2>/)ก/@>7/�0
�/�ก.2>/)0+ ./<��'��@>7=	�+�/�ก,'�
5�/)0+       
:7>2<%�0�>ก/�+�,<�:�%�ก�
:*<ก/@>72��%	>��
�+2�75�$ก��=
*:�< ��	/)�%�	**��
�� 
 
����  1 ���
�
��)��./)ก/@>72��%	>�� 
 

!� 
���� �����������ก� ������ก�����������  

L�����	
,
�*�/Eก   
1 +<�
8��7����- 9 4 
2 +<�
	�./�+�) 9 4 
3 +<�

�L%
 10 4 
4 +<�
+/3ก� 10 4 
5 +<�
�).
) 9 4 
6 +<�
*#%.	 4 1 

��� 51 21  
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����  1 (2>%) 
 

!� 
���� �����������ก� ������ก�����������  

L�����	
,
�*ก/��   

7 +<�
��	
���5�"	G 12 5 
8 +<�
+�2� 11 5 
9 +<�
�#%���) 11 5 

10 +<�
+�ก� 13 6 

11 +<�
ก�L*) 10 4 

12 +<�
/��7�) 12 5 

13 +<�
/��7�)j��/ 11 5 

14 +<�
+���k) 17 7 

15 +<�
+#%.�� 13 6 

16 +<�
���% 12 5 

17 +<�
�#%.� 14 6 

18 +<�
+#%�/E�02< 10 4 

19 ��)��"�l
� 11 5 

20 +<�
N#%�/�) 12 5 

21 +<�
7#%./)=G 12 5 

22 ��*��(m�G�L7�� 18 7 

23 +<�
/3L+)+3L/) 16 7 

24 +<�
ก3	�  15 6 

25 +<�
+�L��3L/) 16 7 

26 +<�
*#%.	=)	� 15 6 

��� 261 107  
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����  1 (2>%) 
 

!� 
���� �����������ก� ������ก�����������  

L�����	
,
�*0=->   

27 +<�
+/3ก�j��/ 11 5 

28 +<�
"
�5�ก(�C 17 7 

29 +<�

�*� 13 5 

30 +<�
�@��n) 14 6 

31 +<�
7)
���o
	�� 15 6 

32 +<�
/)=�
 13 5 

33 +<�
2�	� 14 6 

34 +<�
%�
% 8 4 

35 �@7�
��7"�
8G+<�
/�L/) 13 5 

36 +<�
+3ก�p2	#%.�  25 10 

37 +<�
	)+)(%@�ก���5	�)  26 11 

38 +<�
	#%/�.�   22 9 

39 +<�
+�L��).2 21 9 

40 +<�
��
"/3   23 9 

��� 235 97 

������ก����ก�����������  547 225 
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2.  
)�*�� �*����+�,+�ก������� 
 
 �
�#$%�7#%5�$0�<0
����	ก���กE+��+��7,<%73/ ���
.++�%+6�7�ก�$	�ก�+,��-./)ก��/��0�0

ก���1�+�2���
,%�
�3%���4%�#%���) ���ก�*���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 
5�$;3<����	��<��,'�
�%� L*	ก��=
*/�ก(C),%��
�#$%�7#%0
ก������	2�7��	/)�%�	**��
�� 
 2%
5�$ 1 .++�%+6�7�ก�$	�ก�+�6�
4�"5�$�:�,%�
�3 :*<.ก> ���.
ก2�7�"& 437�/���
��*�7 
�@l�ก��&'ก(� ��)�+ก��CG5����
 ./),
�*,%�L�����	
 .++�%+6�7/�ก(C)ก��=
*0=<�/#%ก 
(Forced choice)  
 2%
5�$ 2 .++�%+6�7�ก�$	�ก�+
��7
�*�=E
�)*�+,��-./)ก��/��0�0
ก���1�+�2���
 6 *<�
 
:*<.ก> *<�

��7�3<�'ก���
�>�
=
'$�,%�=
>�	��
 *<�

��7�3<�'ก��+;�*�%+ *<�

��7�3<�'ก"'�"%0� 
*<�

��7�3<�'ก7�$

��/%*4�	 *<�

��7�3<�'ก��)�+;/�����E� *<�

��7�3<�'ก0
=
>�	��
 ���

.++�%+6�7/�ก(C)7�2���>�
��)7�C
>� (Rating Scale) 5 �)*�+ L*	0�<ก��ก��=
*7�2���*,%�
/��
��G5 (Likertts rating scale) 0=<
>�
���=
�กL*	6#%�กCuGก��0=<
).

 *��
�� (+@-�7 &���)%�*, 2545: 
103) 
 �)*�+ 5  =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+7�ก5�$�@* 
 �)*�+  4 =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+7�ก 
 �)*�+  3 =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+��
ก/�� 
 �)*�+  2 =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+
<%	 
 �)*�+  1 =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+
<%	5�$�@* 
 �กCuG0
ก��.�/
��7=7�	,%�
��7
�*�=E
�)*�+,��-./)ก��/��0�0
ก���1�+�2���

,%�
�3%���4%�#%���) ���ก�*���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 ,%�;3<5�$    
2%+.++�%+6�70
ก����)�7�
;/ �กCuG5�$0�<0
ก��.�/
��7=7�	��ก
).

�d/�$	 L*	0�<
.++%�
2�4�
���
 .+>�;/
).

�d/�$	���
 5 �)*�+:�<*��
��  
 
).

�d/�$	�)=�>��  4.21-5.00 =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+

7�ก5�$�@* 
 
).

�d/�$	�)=�>��  3.41-4.20   =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+

7�ก 
 
).

�d/�$	�)=�>�� 2.61-3.40 =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+

��
ก/�� 
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).

�d/�$	�)=�>�� 1.81-2.60 =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+

<%	 

 
).

�d/�$	�)=�>�� 1.00-1.80 =7�	6'�  7�,��-./)ก��/��0�0
ก���1�+�2���
%	3>0
�)*�+

<%	5�$�@* 

  

3.  ก��-�,� ���.�)�/0�1
)�*�� �*� 

 
 ก����<��.++�%+6�7,��-./)ก��/��0�0
ก���1�+�2���
,%�
�3%���4%�#%���) ���ก�*
���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 ;3<����	7�,��
2%
0
ก��*���
�
ก����<��
./)=�
@C4�"�
�#$%�7#%*��
�� 

1.  &'ก(�,<%73/��ก=
���#% .
�
�* 5v(1� +5
��7 ./)��
����	5�$�ก�$	�,<%�ก�+,��-./)
ก��/��0�0
ก���1�+�2���
 ���
.
�5��
��7�ก��=
*L
����<��,%�,<%
��6�7 

2.  �>��.++�%+6�7./)���
�
4�(�,%�,<%
��6�70=<�%*
/<%�ก�+��26@��)��
G ./)
��)L	�
G,%�ก������	L*	���
.++7�2���>�
��)7�C
>� (Rating Scale) 5 �)*�+   

3.  
��.++�%+6�7d+�+�>����
%2>%%����	G5�$��'ก(���5	�
�"
8G�"#$%��'ก(�./)"����C�
2����%+
��763ก2<%�./)
��7�=7�)�7 

4. 
��.++�%+6�7d+�+�>��5�$2����%+ ./)���+��@�.ก<:,���	+�<%	��
%;3<���$	���-     
N'$�7�
��7�3<./)��)�+ก��CG5��*<�
ก��+��=��ก��&'ก(� "����C�.++�%+6�7 ���
�
 5 5>�
 
(4�
;
�ก ก) �"#$%2����%+
��7�5�$	�2�������
#�%=� (Content Validity) ��ก
��

��7����
��)=G=�
>�
*��
�
��7�%*
/<%� (Index of Item Objective Congruence: IOC) ("����2
G 5����2
G, 2540: 117) 
L*	"����C�
).


��7
�*�=E
,%�;3<���$	���-.2>/),<%5�$7�
).

�d/�$	7�กก�>� 0.5 ,'�
:� 6#%�>�
,<%
��6�7
��
��*:*<�%*
/<%�7�
��7�5�$	�2��,%��
#�%=� ;/���ก1�>���	,<%
��6�75���d+�+7�
>�
*��
�
��7�%*
/<%�%	3>�)=�>�� 0.67-1.00 .�/;/�>�%	3>0
�กCuG5�$0�<:*<      
     5. 
��.++�%+6�77����+.ก<4�(�./),<%
��72�75�$;3<���$	���-��
%.
) �"#$%���+��@�
.ก<:,�#$%
��7=7�	0=<��*��
�7+3�CG7�ก	�$�,'�
 ./)
����
%%����	G5�$��'ก(���5	�
�"
8G%�ก
����              
 6. 
��.++�%+6�75�$;>�
ก�����+��@�.ก<:,./<�:�5*/%�0�< (Try Out) ก�+
�30

�6�
&'ก(�,��
"#�
H�
%���4%�#%���) ���ก�*���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� 
�,2 1 N'$�:7>0�>ก/@>72��%	>�� ���
�
 30 

 
 7.  
��.++�%+6�7d+�+�>��5�$:*<��+
#
4�	=/��ก��
��:�5*/%� (Try Out) .++�%+6�75�$7�
/�ก(C)���
.++7�2���>�
��)7�C
>� (Rating Scale) 
��
�C=�
>�
��7��#$%7�$
,%�.++�%+6�7 
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(Reliability) *<�	��8����
��)=G
>���7��)��58�{.%/|}�,%�
�%
+�
 (Cronbach, 1970 %<��6'�0
 �����2� 
�,#$%
.ก<�, 2554) 7�
>�
��7��#$%7�$
5���d+�+�5>�ก�+ 0.98 ./)
>�
��7��#$%7�$
��	*<�
 6 *<�
 :*<.ก> 
*<�

��7�3<�'ก���
�>�
=
'$�,%�=
>�	��
�5>�ก�+ 0.99 *<�

��7�3<�'ก��+;�*�%+�5>�ก�+ 0.97 *<�


��7�3<�'ก"'�"%0��5>�ก�+ 0.98 *<�

��7�3<�'ก7�$

��/%*4�	�5>�ก�+ 0.97 *<�

��7�3<�'ก��)�+
;/�����E��5>�ก�+ 0.80 ./)*<�

��7�3<�'ก0
=
>�	��
�5>�ก�+ 0.75 
 8.  
��.++�%+6�75�$;>�
ก��5*/%�0�< ���+��@�.ก<:,���	+�<%	./<���*"�7"G.++�%+6�7
d+�+�7+3�CG
��:��กE+��+��7,<%73/ก�+ก/@>72��%	>��0
ก������	 

 

4. ��	�ก��
ก2�������3,��4� 
 
 ก������	
����
�� ;3<����	:*<*���
�
ก���กE+,<%73/ *��
�� 
 1.  ,%=
���#%��ก+�Cu�2��5	�/�	 7=���5	�/�	���4�1��,/� ���	
;3<%��
�	ก�����
�ก��

�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 �"#$%,%
��7%
@�
��)=G0
ก���กE+��+��7,<%73/
��กก/@>72��%	>��5�$ก��=
*:�<         
 2.  *���
�
ก���>�=
���#%��
%2>%;3<%��
�	ก���6�
&'ก(�0
%���4%�#%���) ���ก�*���
�ก��

�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 "�<%7�>�.++�%+6�72�7���
�
ก/@>72��%	>��.2>/)
�6�
&'ก(� ./)�)+@�>�.++�%+6�7
#
:�	�����
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� 
�,2 1 
 3.  ;3<����	��)��
��
:�	���6�
&'ก(�2>�� ~ �"#$%0=<*���
�
ก����+��7 ./)�>�.++�%+6�7

#
;3<����	 
 4.  ;3<����	2�*2>%���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 �"#$%�,<���+
.++�%+6�7*<�	2
�%� ./)2����%+.++�%+6�75�$:*<��+
#
 225 d+�+ 
�*���
�<%	/) 100 
=/����ก
��
2����%+
��7�7+3�CG,%�.++�%+6�7�"#$%*���
�
ก�����
��)=G,<%73/2>%:�  
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5.  ก����
)���.53,��4����-6������+�, 
   
     5.1 ก����
)���.53,��4� 

          ;3<����	
��.++�%+6�77����
��)=G,<%73/*<�	L��.ก�7�����E��3� 7���	/)�%�	**��
��      
               2%
5�$ 1  .++�%+6�7,<%73/�ก�$	�ก�+�6�
4�"5�$�:�,%�
�3 :*<.ก> ���.
ก2�7�"&      
437�/���
��*�7 �@l�ก��&'ก(� ��)�+ก��CGก��5����
 ./),
�*,%�L�����	
 ���
��)=GL*	ก��=�

>�
��76�$ (Frequency) ./)
>��<%	/) (Percentage) 
  2%
5�$ 2  .++�%+6�7,<%73/�ก� $	�ก�+
��7
�*�=E
�)*�+,��-./)ก��/��0�0
             
ก���1�+�2���
,%�
�3%���4%�#%���) ���ก�*���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 
���
��)=G*��
�� 
              1)  ���
��)=GL*	=�
>��d/�$	 (Mean: X ) ./)�>�
�+�$	��+
7�2�H�
 (Standard  Deviation: 
S.D.) 
              2)  ���
��)=G,<%73/ก������	+�5�	+
��7.2ก2>��,%�
��7
�*�=E
�)*�+,��-./)
ก��/��0�0
ก���1�+�2���
,%�
�3%���4%�#%���) ���ก�*���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�

��8���� �,2 1 ���.
ก2�7437�/���
��*�7 ./)�@l�ก��&'ก(� N'$����
2��.��%���)5�$7�
>�	>%	 2 
>� 
���
��)=G
>�5� (Independent-Samples t-test) 
  3) ���
��)=G,<%73/ก������	+�5�	+
��7.2ก2>��,%�
��7
�*�=E
�)*�+,��-./)
ก��/��0�0
ก���1�+�2���
,%�
�3%���4%�#%���) ���ก�*���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�

��8���� �,2 1  ���.
ก2�7��)�+ก��CGก��5����
 N'$����
2��.��%���)5�$7�
>�	>%	7�ก�>� 2 
>� =�
>�
�%| (F-test) ���
��)=G
��7.�����
5���*�	� (One-Way ANOVA) �"#$%5*�%+
��7.2ก2>�����
         
��	ก/@>7 ก�C�"+
��7.2ก2>�����
��	ก/@>7 �)2<%����
��)=G./)����	+�5�	+
��7.2ก2>�����
��	
3> 
L*	0�<��8�ก�����
��)=G LSD (Least Significant Difference) (ก�/	� ��
��	G+�-��, 2545 : 258) 
 

 5.2 -6������+�,+�ก����
)���.53,��4� 

          5.2.1  �6�2�5�$0�<0
ก��=�
@C4�"�
�#$%�7#% 
           1) ก��=���)��58�4�"
>�
��7�%*
/<%� (Index of Item Objective Congruence: 
IOC) ,%�.++�%+6�7 ("����2
G  5����2
G, 2540: 117) 
=7�	�=2@ : 
��7
�*�=E
,%�ก��7ก��;3<���$	���-
>� IOC ≥  0.5 ,'�
:�.�/;/�>�0�<:*< 
              2) ก�����
��)=G=�
��7��#$%7�$
 (Reliability) ,%�.++�%+6�7 L*	0�<�32�     
ก��=�
>���7��)��58�{%�/|� (Alpha Coefficient) 2�7��8�,%�
�%
+�
 (Cronbachts method)  
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          5.2.2  �6�2�"#�
H�
 :*<.ก> �6�2�����"��C
� �"#$%%8�+�	;/ก������	�ก�$	�ก�+�6�
4�"
5�$�:�,%�
�3./)
��7
�*�=E
�)*�+,��-./)ก��/��0�0
ก���1�+�2���
,%�
�3%���4%�#%���) ���ก�*
���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1L*	0�<�6�2�*��
�� 
               1) 
>��<%	/) (Percentage) 
               2) ก��.�ก.��
��76�$ (Frequency) 
               3) 
>��d/�$	 (Mean : X ) 
               4) �>�
�+�$	��+
7�2�H�
 (Standard Deviation: S.D.)  
          5.2.3 �6�2�5�$0�<0
ก��5*�%+�77@2�H�
 :*<.ก> �6�2�%<��%���"#$%%8�+�	;/ก������	         
ก������	+�5�	+
��7.2ก2>��
>��d/�$	,%�
��7
�*�=E
�)*�+,��-./)ก��/��0�0
ก���1�+�2���

,%�
�3%���4%�#%���) ���ก�*���
�ก��
�,2"#�
5�$ก��&'ก(���)67&'ก(�
��8���� �,2 1 ���.
ก2�7 
�@l�ก��&'ก(� ��)�+ก��CGก��5����
 ./)437�/���
��*�7 L*	0�<�6�2�*��
�� 
              1) ก��5*�%+5� (Independent-Samples t-test) 

       2) =�
>�5*�%+�%| (F-test) ��8����
��)=G
��7.�����
5���*�	� (One-Way 
ANOVA) 
           3) ����	+�5�	+ก��5*�%+��	
3> LSD 




